WINAM GROUP
SPORT

081200M

DATE:

24.8.2017

N

4

PLAT 1(2)

705

428

DET 22-24
OR 25-27

(1) 706017 [pes|(2) 980114 [pcs|
l 4

e
- @4x20 ]
(3) 705428 [Pes|(4) 902272 PSS
1] | 4]

90x90x450
(5) 909519 [Pes|(5) 909639 [PCS
4 | 8
.'é'g«»‘)

L F
50x380x380 | | wmiox25 | |
(?) 909638 [pcs|(8) 909637 [pes
16| B

\m#
®20/10.5 ] M10 ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

081200M

DATE: 24.8.2017

2(2)

1:15 1:15
o
o)
)
7
865
I
Area of Movement 12 m2 1:40
Training Space 5.3 m2
Max Falling Height 300 mm 985
% am -] 1500 0 0
2 = i I
I A -] M M
o
)
0
2000
3985

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP |
Impact Area EN 1176 REF 4x

DATE: 20.2.2018
3

h < 600 Totally hard surfaces.

Without movement
and therefore
without Impact Area

E.g. concrete or asphalt

Note. Lappset does not recommend
totally hard surfaces at all.

h < 600 Meter\'g\s with very limited E.g. wood
impact attenuating U Y D Y i
With movement properﬂes

e.g. rocking

fine gravel 0—8 mm

Materials with significant e T s e s
h<1000 | | . SRt L e g T
impact attenuating SR a6l g0 St
properties. drass
™

unsorted sand

g

h <3000 Loose fill material

Eg : A’ :\ @ @ a B
sand/gravel 0,25...8 mm D60/D10<3,0 | = . FRTAE <
Woodchips 5...30 mm T i A S
bark 20...80 mm u ot R &
et S el
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m g@
50 mm ~> 1,5...1,7 m 1 A2 L SL é,@,*,‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2.1..2.5 m e LR

Note. For accurate values, see
manufacturer’'s instructions.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


A
WINAM GROUP 's

EN 1176 FOUNDATION REF: PLAY
DATE: 20.2.2018

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PAYL

SPORT DATE: 8.12.2016 1(10)
DET 1 DET 2
V16 1 > 150 .
9| {O——1 7
: 5 g e 120 Nm
s @ . M16x170
o [[O]] ] = '
= . ] x : Go o
2 S So ) - d% o°
T i 9°),9°8ge 9°Bge 97 9" dege
N RS S S 55 S S R R 5
905/380 / 160 Concrete / Betoni K30
DET 3 DET 4
)/ x60
(980123)
M10
(905104) 716 /8.4
(909256)
905/80
DET 5 DET 6
N n N
l 540 l 64%
@)
N O
O
I | E R I
K4 % .oo égjooooooo.. OOOSOS o9 Oé | rrr
2 g 1 oQ __Q A v
P rrrrrrrrzrrrrrrnr
CONCRETE 300x300x1500




WINAM GROUP BASE
—) o4
SPORT DATE: 2.11.2018 - 2(10)
DET 7 ?8x400 (x2) DET 8
A 500 HW
\/
A
mi O |
O OOoO /OOOO -
Yo SRS DS R © M10 -
D ooog0| [0 3% i (905104)
JON DN 0N DN N N N SN N N N N X @
905/61
| 500x500 el
Concrete / Betoni K30 —
DET 9 DET 10 @8x400 (x4)
A 500 HW
1/ x60 Y i
(980123) ]
)
)
@ _A) N
72 ] 00010 ? Of ) O
" of (@] B R ©
L) °°00 s 00200 o |3 QO:E o °
016 /8.4 k\q_;@é’\ M og-90 |5 980, i
<9@9256> = PN PN SN DN N N N N0 N N N X
300x000
-y Concrete / Betoni K30
DET 11 DET 12
~
S ey
b7x60 >
(9807123)
M0
(905104) @W@/gﬂr
(909256)
\¥// v
N N

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP BASE

SPORT DATE:  29.4.2015 “ 3(10)
DET 13 DET 14
716 L > 130
(o ([ © O
o o e ° e 120 Nm
S o)X @ A m M16x1/0
O
s | [OlO] || a5l
o 2 — olo— s @oooo OOO@ : d°ge
; O °0 o°
/ O rogger OTgO”° OO Q °oc°
90600/ L 230 J R I FTFTT
Concrete / Betoni K30
DET 15 DET 16
e ~
7 DR
3 07x60 > ® .
9‘ (98@23)
(905104) ¥ 5
By
716 /8.4 \
(909256)
906557/
DET 17 DET 18

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A

WINAM GROUP BASE \[ 4
SPORT DATE: 29.4.2015 © —=/\T 4(10)
DET 20
410V 90
(4x)
O
i
A
SO TSRS ISR
Betoni /
Concrete
Safety surface
DET 22
aﬁ;::ﬁs
O
O
O )
v €
ol L~
S — -
ﬁ%( = = i
N A
830
DET 23
90227/2
P
= MTOx25
= & = (909659)
“Je © ° - 909519
! @2@/%}5
572\ (909638) 9 ©
1 g MIO y
i (909637) M10 N ©20/10.5
902272 (909637) ™ ® (909638)

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

BASE

N

¢

PLAY
SPORT DATE:  29.4.2015 5(10)
DET 25 ~- |DET 26
Esireikad Pre—drill hole.
705412 /
210 1 90
55 Nm
) <« M 0x100
Ook K o
905743 - c o E ;P°$o
e Betoni / Concrete K30. O
MO _— e i S
afety surface A
DET 27 DET 28
/05096
//////E 906140
905745
M10x100 H TNl L e .
(909628)
DET 2 Esireikd / Pre—drill hole. DET 30
@10 1 90
.35 Nm
/Q
<« M10x10Q
%
I
ook . o 0f w00 op oo onf 0o 0° o oo oc
P oot Vo f-"kaé’-" o or o° u'f’-" o2 o p.g:’ og.ﬂ clwo:’ %) )
\ Betoni / Concrete KJ30. =
Safety surface A

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




N

WINAM GROUP BASE \[ 4
PLLAY
SPORT DATE: 29.4.2015 6(10)
DET 31 DET 32
M10x25
/(9096 39)
= fimrnuN \ N gl o
- < w W SR
S ]
vti%(/ 55
PN 080
D, . #20/10.5
(509637) (909638)
DET 33 DET 34
906644
506645
(909248) >
M10x30
524 /13 g (s09629)
(980154) ) 220/10.5
= (909638)
& © ® M10
MT2x40 /& 'é‘% @—  (909637)
(909109) < 902272
005299 L
DET 35 DET 36
‘ 9022/2
ﬁﬁ it M10x25
s | (909639)
s 320/10.5
N (909638)
909519
T M 10
- 90965/
ﬁ )

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

BASE

SPORT pATE: 2042015 ~ =/ 7(10)
DET 37 DET 38
K107 >90
AR\ NN I \
\\\\ \\\ 4 N
AY A\ mv % O
NeE 3 o
2lo Qs Qe o @) O
Al ° o o DO OD @)
xlor Ho:'e: Hosge 1 —O O
° - 905817 _~— —
Beton]
MTOx100 Concrete 906014
DET 39 DET 40
/05542
909628 @ |o| e
MTOx100
(909628)
DET 41 DET 42
Esireika / Pre—drill hole.
210 T 90 -, 35 Nm
1
<« M10x100
%
= -l I
Ro : / \4% _ _
\O B\ @ or eﬁg“
\Betom / Concrete K30. =
Safety surface N

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE \[ 4
SPORT DATE: 15.8.2017 A 8(10)
DET 43 DET 44
904064 o
ﬁﬁ it M10x25 .
= = (909639)
S 720 /10.5

(909638)

(980150)

905112

MTOx100
1 (909628)

DET 46
7107 >90
ﬁO O
> O
Y ?
- 906114 90
M10x100 \Efﬁﬁge
DET 47 DET 48
316 /8.4 K
M10

MTOXZ2D =
(909639)

9095719

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP BASE 'w
SPORT DATE:  29.4.2015 | ‘ 9(10)
DET 49 DET 50
O
O
O )
Vi g ny N N\
z - N o \ .
n SR ol of & e far F e
B 0 9959?@005@95098
7 = = ﬁ 1‘ O; Oos OOQ?’O: o:;o 02
[ SN DN DN °. %% @° "O/A\k"i”i °5
330 M10x100 /  “EE8s
DET 51 DET 52
4107 >90
8% O
> O
7 7
906731 90 ESEISE
DET 53 DET 54 906729
~ MT0x25
2 o (9096 39) \
320,/10.5 /s
N o~ (909638) AR
N N SN
DSOS NP8 o0
290
909519

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE

SPORT DATE:  29.4.2015 7710(10)
DET 55

STEELNET @6 #150 NOTL!
(1400%2100) Hox
Concrete

1500X2200X200 K30

O
O
A

TSRS ST TS TR //ﬂ//ﬂ//ﬁ

DET 56 DET 57
906 /50

VA S —

MTOx25
(909639)

(9096 38)

YA A A AV A/ A/ A/ A/ A/ A

M710O
<909657>
DET 58 DET 59

Esireikad
Pre—drill hole. ~

»10 J 90

M10x100 o if
35 Nm | O

——— 0, A

o-* h 0.0 0" g.o O 0.°
wWWwféw?%& K
\ Betoni / Concrete

Safety surface

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP PARTS '»

SPORT DATE: 26.8.2015 LAY 4 (10)

DET 1 DET 2

716 /8.4
@ 716 /8.4
IR (909256) \\\‘
| %%;m %S
4
&«

1 /x60 = ‘
(980123) ™

Acryl+sticker &~

905934
DET 3 DET 4 216 /8.4
o ~ M& «
I two—sided
70502400 | oo Maras (009533)]  /(509256)
8 screws 9025936
@
(909535 (901899) -
@W6/8 4 / 5 / (909855)
Q ’ S~ .
(909256) If two—sided
/N use M&x45
M&8x35 SCrews
(909855) // (901899)

DET 5 (16 /5.4 DET 6
o TGO 716 /8.4
(980123) (909256)
D/ x00 =
(980123)

906009

-

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS '»

WINAM GROUP
PLAY
SPORT DATE:  26.8.2015 2(10)
DET 7 / DET 8 @24/W3
M3 024 /8.4
980154
(909633) (980152) @ ( )
MT2X140
‘o \ (909246)
; MEx 30
(909852) 905105
],
DET 9 DET 10
/05049
316 /8.4
(909256)
/X60
me
/ —_ /%60
906114 {/& (980123)
/05597
DET 11
J/x60
705397 <98@W23>
< 016/8.4
M10 (909256)
(905104) =@
@ /02392

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS "o/
SPORT pATE: 26.8.2015 =/ 3(10)

DET 13

DET 14

O
216 /8.4 0
(909256)

@0/x60
(980123)

Place the logo laterall

DET 15 DET 16
ox90
8X100 M
(909233) (980104)
332 /13.5 e 905830
(909253)
Place the logo laterall
M12 @24 /8.4
(902234)\ (909505)
DET 17 DET 18
Joxdu J %958%?84)
(980104 ) o~
905830 905850

Place the logo laterdll




A
WINAM GROUP PARTS ‘o
SPORT DATE: 26.8.2015 mLAT 4(10)
DET 19 T = DET 20
fi \ M10x40

(901487)

M10x35

(902252)
220,/10.5x2 19x21x25
(901302)

(903193)
MTO ?20/10.5x2
(909637) (901302)
M10
(909637)
DET 22
DET 21

@ 705433
N 705434
Rad / 38x70
Huovioson sifitus (903193) (900240)
=%
=
DET 23 DET 24
032 716 /8.4

(980151)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS '»

WINAM GROUP
SPORT DATE: 26.8.2015 Tl 5(10)
DET 25 M8><25 DET 26
(909850) AN 216/8.4
™1 f (9@9256)
24/804 ) 07 %60
(980152) (980123)
M8 -
(980160)\ | = /00459
NS ] 27x60
A\, Y (980123)
DET 27/ DET 28
@16 /8.4
(909256)
9U6o// ~ £ B7x60 <;;;;> e
. (980123) ™ ¢5 ?§
B5X60
15% 35 (980100)
980129 )
( ) v &
DET 29 DET 30
M8x 30 <
902195
M10%x 30 (9@9852)
, 906117
(902233)
724 /8.4
ﬁ\\\\\E 3 (980152)
o 8
M10 e N
e a/f%\\ M8
M10x55 000
980125 .
906006 (902232) ( ) 016/8.4
(909256)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

DATE:

PARTS ‘o

PLAY

24.6.2020 6(10)

DET 31

316 /8.4
(909256)

W/ x60
(980123)

/025461

DET 32

M8x40

(909873)
N

X 216 /8.4
)

DET 33

216 /8.4
(909256 ) l
0]

J/x60

(980123) \\fznﬁf}'
O\

/05505

THE WATER HOLE J

DET 35

J3x060
« (906630)

/05520

3\ THE WATER HOLE

DET 36

90663/




C,

WINAM GROUP PARTS i
SPORT pATE: 26.8.2015 =M 7(10)
DET 37 DET 38

~
0 ¢
Q”“¢ﬂ3//
/05568 (980123)
S 216 /8.4
M10 (909256)
(905104) @ || o | @
@
705568
DET 39 DET 40
906615
5 : . ,
| /&. \
A T O ' J
i | N J @7x60
o (980123)
906613 & — 1 716 8.4
f; (909256)
DET 41 DET 42
MEx40
(905575) M10 MT0Ox55
7@55@ﬁ>\\ﬁ (980161) (902232)
A

(9

09256)

ME
(980160)

M10Ox 350
(902233)

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



C

WINAM GROUP PARTS
SPORT DATE: 26.8.2015 =M 8(10)
DET 43 DET 44
ox60
D5%60 (980100)
(980100) \
£/
006583/ /7
/05400
DET 45 DET 46
8x60 —
(906630)
) iy
< ] \
705098 WL,

90614/

gTirid

NYEREE
O/x40 -

(980128)
DET 47 ‘\\\\%%%¢;/¢¢/’ DET 48
Jox40 870 705037
(980102) : (900240) Q%
I
9Q6W 48 905800 N
Z 51 60
P (x2)
Huom!
Fsireika
Note:
Pre—drilled
(980106) hole.

WinAm Group / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




PARTS '»

WINAM GROUP
SPORT DATE:  26.8.2015 —LAT 9(10)
DE%;&; e DET 50 n
(905083) 018—20
(905112) (906767 (980160) 18y 45
(901899)

216 /8.4
909256)
VEx90

(
(

903093)
908019

(98@W5©>
316 /8.4
(98OW5W>
MEx /0
(9@9267)
DET 51 M1 0% 30 V10%55 DET 52 @W6/804
902273 @322 (980151)
(905WW2>
MEx6H0
J57 <909097)
<905085>
P ) @
M8 B
902195 @
! M10 ®
DET 53 DET 54

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP PARTS

SPORT DATE: 26.8.2015 © —/\ T 10(10)
DET 55 DET 56
& )
[ 1l o
M Wox60
[ ) (980131)
[ |
I J | 906632
( I 9060652
T @ H
DET 57 DET 58
DET 59 DET 60

WinAm Groub / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333



WINAM GROUP pRODUCT SIGN

SPORT DATE: 22.8.2017
118x78x0.7 @4x20
/]
G
— 1
R
J
Example installation ! Example installation !
Esimerkki asennus ! Esimerkki asennus !

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP PRODUCT SIGN
SPORT DATE: 22.8.2017 2(2)

I
I

Example installation !
Esimerkki asennus !

™ ] ™ ]
mstallation ! Q
asennus ! _

Example
Esimerkk

50

50

[J(e](r]

1650

1650

Example installation !
Esimerkki asennus ! \co

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





